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I o e M3 AR S FIINMAEEE Gt 20 ALLF IR MEREAD | g
i T PEEHH e - e - fui
- (FAM) | aeed1iyy (5m) (EHA) | aegriiyy 5m) | L
1 |[dbJuirs] 1,112 [FEJuiT] 50,510 [dEJWNTT| 2,122,862 |Xi FHIET 14,766 |[dEJLINTH| 613,244 |$igRE | 5,400 | 1
2 |wEk 916 |#&E 22,038 |XiHET | 1,312,761 |2U%R%EFri| 8,242 |XiHHAT 347,169 |XiHHAT 3,954 | 2
3 |ABEkT 418 |ABEKT| 11,075 |=&T 799,745 |EHE T 7,756 |t 252,975 | FEHT 2,223 | 3
4 | RJITH 292 &4 10,448 [f&f 662,576 |#IA T 4,614 |FAAaT 113,323 |#1&T 2,133 | 4
5 |/N\&Th 197 [Xiji AT 8,946 |FERIFTH| 393,517 |ACZHT 4,582 |BERIFTT| 103,058 [A0ZWT 1,767 | 5
6 | 177 | KAeH 6,402 |#aTH 282,898 |dbIulimi| 4,156 |'=H#5H 96,607 | L& 1,495 | 6
7 |&ET 167 | AT 6,327 | ARk 251,697 [ KW 3,789 | H&ET 94,845 | 1,465 | 7
8 |E 153 |IE 5 5,330 | KW 245,528 |/AILHT 3,712 | KBmWEH| 78,628 | K=hFfi| 1,402 | 8
9 | KB 144 |sHETH 5,323 | & &h 193,872 | L=AT 3,610 [ABEKHT| 73,074 |RKNT 1,346 | 9
10 | KAH 142 |78 4,846 |Fitam 131,665 [#:)I1ET 3,376 |HifkT 53,058 |/INEBTH 1,306 | 10
11 [FiATH 124 |85 4,602 |E 5T 121,333 |&& 3,091 [E 5 44,151 |FHESumT 1,229 | 11
12 |ZEERT 114 |3t 4,566 |iTHEH 109,838 |/NERTH 3,089 [N\ Zci 39,067 [ KA M| 1,218 | 12
13 |5 112 | &g 3,497 |AZHT | 101,120 | 2,997 |ARCZHT 38,861 |dbJuNTi| 1,206 | 13
14 |FERT 100 |Hremy 3,386 |AEETH 100,520 |HiE 2,937 BT 37,285 |BiETH 1,193 | 14
15 | & 98 | RJITH 3,364 |\ Zcifi 90,981 |#&[ T 2,721 |BEH 32,957 |\ Zifi 1,178 | 15
16 |fTHEh 88 |\ % 3,282 |E-miHi 89,381 |\ Z i 2,687 |Hr=mT 27,748 | &% 1,142 | 16
17 | A0Fh 82 [#)ilm 3,149 = mT 74,874 | Eaith 2,648 | KRJITH 23,759 &b 1,134 | 17
18 |HEEr 77 | KRBT 2,853 |#&FHT 52,004 |7=&Th 2,508 |BI)IITH 20,877 | =it 1,109 | 18
19 |k Bh 75 @I 2,389 |@JIIT 51,153 | RANT 2,500 |=&h 20,280 |ZAiTET 978 | 19
20 |y 75 |AZHT 2,253 | RJITT 48,913 |%%FHT 2,379 |/hNERT 19,944 =& 938 | 20
21 |Zweil 74 BTN 2,205 |#0)ilT 47,431 |fTH@TH 2,300 | 0T 19,858 |/KZ&HT 934 | 21
22 | XiHHT 72 |FEENT 2,153 |/hERT 47,349 /My 2,269 | KEFHET| 19,723 [FA=NT 917 | 22
23 =4 69 |zzmk 2,136 |zE#k 44,862 |D=1Eih 2,240 [HIERT 18,935 |#FHT 916 | 23
24 OEIEm 68 [¥aEHT 2,041 D& 44,176 |JI1IRFHT 2,237 | EEHT 16,843 [/AILHT 887 | 24
25 |J&)IIAT 65 [DxiFh 1,994 |[F7£HT 42,465 W1 2,229 |FE0T 16,567 |2 =0T 840 | 25
26 |EmAT 63 |1y 1,973 | KB 42,424 |EJ5H 2,204 |HEiEm 16,241 [Dixm 840 | 26
27 |¥a=HT 61 |[ZEAERT 1,915 [¥a=mT 39,562 |/KZRHT 2,195 |ZLailT 15,737 [#&FHT 816 | 27
28 |H)IT 57 |BiERW 1,908 [SRETH 36,469 |AREKTI| 2,180 [JKKHT 15,632 |Hremr 812 | 28
29 |JRE) 1[I 55 [kl 1,812 | ==& 35,633 |BREET 2,179 |zEwihi 14,252 |E 5 809 | 29
30 | Eaimh 53 |ARRE 1,624 |ZEFEENT 35,222 s T 2,174 |ZEFENT 13,483 |F-EHT 781 | 30
31 | FHT 52 ST 1,609 |J&JITHT 33,223 K2/ 2,159 |AGsuhT 12,342 [ KJJpERT 780 | 31
32 |SAiHT 51 |/NERTH 1,547 |SURTHT 31,785 |&ElT 2,144 | KSEFFTI| 11,866 |)IIGHET 757 | 32
33 | 49 |HRT 1,383 |/AILHT 29,589 |fEZEHT 2,144 |W)IlH 11,580 |RJ3EHT 751 | 33
34 [Ny 48 |=‘m 1,377 |RKKHT 29,177 |f@%HT 2,082 [k 10,924 [t&iET 741 | 34
35 =&l 47 k&l 1,244 | EEHT 28,136 |Zekiti 2,068 |Ji)I1ET 10,460 |fETH 718 | 35
36 | KARNT 44 | RKHT 1,182 |&& 26,500 |SR T 1,978 [T 10,336 |4 717 | 36
37 | RJJBEnT 40 |=AEET 1,170 |H M 25,258 |FFEMAT 1,976 |H M 10,184 |ZEFEHT 694 | 37
38 | Aoz HT 39 |FRETJITHT 1,104 |/KZ&HT 23,656 |HUAGHT 1,961 [/KZHT 9,976 |/IMTET 690 | 38
39 [fmEr 36 | KJJpERT 1,076 |[#mHE 22,910 | KJIPERT| 1,951 |&& 9,764 | KEFHTH 677 | 39
40 | XE/T 36 [ACEET 1,012 |z=igny 22,055 |4 HT 1,908 |[#&HEm 9,761 |[AEJITHT 667 | 40
41 |/Mrmy 28 |G mT 1,001 |&Es0mT 21,701 [HEAT 1,898 | K JIPEHT 8,442 | XJIIT 666 | 41
42 |f&7uy 27 [fERnr 942 | KJJVENT 21,347 |ZHEEHT 1,795 [#BRHT 7,728 | 664 | 42
43 | EHT 26 | K= 854 |AXCE 20,418 |FRITH 1,766 |imANT 7,210 (W1l 655 | 43
44 |l $EH] 25 |&HFE 839 [wAHT 19,825 |t&iETh 1,732 /A LHT 7,038 |AREKTH 652 | 44
45 |fEZERT 25 /ALy 787 | KsEM/F 18,438 |J&)ITHT 1,621 [ARET)I[ET 6,480 |i=mT 629 | 45
46 |FEHTH 23 | B0y 784 |/MHT 17,706 | KAEHT 1,591 |[/MPrmT 5,311 |PRETH 596 | 46
47 |HFMT 22 [/ 781 [#E)IIHT 14,481 |Higst 1,588 |y 4,280 |BRET)IIET 585 | 47
48 |/NERTh 19 |fEsEnT 641 |fEEENT 14,235 |dsE iy I EET 3,837 |#kEENT 582 | 48
49 |/ LT 18 |l Ry 565 |BRE)I[ET 12,412 | & =T 1,507 [AEJIIHT 2,840 | &R 521 | 49
50 |41y 16 |EATH 563 | T 9,069 |#)IlT 1,467 [FHNT 2,385 |/&)IHT 516 | 50
51 |)IlIHT 16 |&F&HNT 446 |FE AT 6,877 | KBy | 1,435 |[FEAH 2,310 W1l 506 | 51
52 |ZE EHT 13 |REJITET 430 |)IIGFIET 6,023 | KJITT 1,344 | A% 2,113 |FHT 406 | 52
53 | & =T I ER) 337 |&FRNT 5,534 |AFH 1,258 |JINIEHT 2,018 |S&mmT 399 | 53
54 |HFE 10 |JINIRFHT 255 |FE BN 3471 |[FEHH 1,199 [/ =T 1,730 [ XAEHT 385 | 54
55 |Huidrt 10 |5 =0T 205 |5 =IT 3,191 |&FFMT 1,192 |5 EHT 1,329 |8 EHT 373 | 55
56 | EEHT 9 |K{EHT 138 |HIER} 2,311 [FREQJIET| 1,107 | KERT 536 | HUERT 339 | 56
57 | KAERT 8 |RiERT 138 | KRAEAT 2,222 |& EHT 956 |HigRt 489 [¥RHAET 329 | 57
58 |VsHIT [ EYEL) 105 [k HET 907 | HNT 840 |5& HIT 419 [FRAT 287 | 58
59 |5%& HET 7 |Emny 50 |AsHET 327 |RA 691 |¥sHAT 178 |fTi&h 214 | 59
60 | FRAT 5 |oRAT 26 |oRAT 219 |UsHIT 591 [FRAT 89 |AE 130 | 60




